Acid, Base and pH Test Review

Name:_________________________________  Period:______
1. Name the following acids/bases and their corresponding IUPAC name:

a) HBr




b) LiOH



c)HNO2
d) HClO4




e) Ca(OH)2



f) KOH
2. Give the formula for the following acids:

a) barium hydroxide



b) hydroiodic acid


c) chlorous acid

d) sulfuric acid



e) magnesium hydroxide 

f) acetic acid
3. What is the equilibrium expression for the following equation?    A  +  3B  ⇋   2C  + D


4. Label the compounds: acid, base, neither, both (Arrhenius definition)

a)  NaOH


c)  Mg(OH)2


e)  H2O


g) H2SO4

b)  H2S



d)  NH3



f)  HCl


h) NaC2H3O2
5. Complete the following two sentences:

a)  An Arrhenius acid produces ________ in water while a Bronsted Lowry acid ___________________ a proton.
b)  An Arrhenius base produces ________ in water while a Bronsted Lowry base __________________ a proton.


c)  Your test will use 2 other ways to say H+. Those are ______________ and ___________________   ________.

d)  Your test will also use H+ (_______________   ____) and H3O+ (_________________   ____) interchangeably 

6. Predict the products for following two reactions: 
a. HNO3 (aq) + LiOH (aq) → 

b. Ca(OH)2 (aq) + HCl (aq) → 

7. Determine the pH of a KOH solution that has a hydroxide ion concentration of 4.5 x 10-4 M. Acidic or basic?
8. What is the pH of a solution whose hydrogen ion concentration is 3.5 x 10-3 M? Acidic or basic?
9. Which is considered an acid/base reaction? (Multiple choice question)
a.   
 HgNO3(aq) + KCl(aq) → HgCl(s) + KNO3(aq)
b.   
2NaOH(aq) + H2SO4(aq) →  Na2SO4(aq) + 2H2O(l) 
c.  
Mg(s) + 2H2O(l) →  Mg(OH)2(aq)   + H2(g)

d.  
 KNO3(aq) + LiOH(aq) → KOH(aq) + LiNO3(aq)
10. Identify the acid, base, conjugate acid and conjugate base in the following examples:

a. HNO3 
+ 
SO42- 
( 
HSO4- 
+ 
NO3-
In the equation above, which  one is the weaker acid?  

b. HF 
+
 H2O 
 ⇋
 F-
 + 
H3O +

In the equation above, if HF is a weaker acid than H3O+, which direction is favored? What’s the value of K?

c. NH3 
+ 
H2O
  ⇋
NH4+ 
+
 OH-
In the equation above, if OH- is a stronger base than NH3, which direction is favored? What’s the value of K?

11. Given the following acids, write the conjugate base:

a. H2SO4 



b. HBr 



c. HNO3
12. Given the following bases, write the conjugate acid:

a. NH3 



b. ClO2- 



c. HPO42-
13. Strong acids and bases make _______________ electrolytes because the compound would ______________________ completely. This would make a light bulb shine ___________________. 
14.Weak acids and bases make ________________ electrolytes because the compound would _________ dissociate completely. This would make a light bulb shine _____________________.
15. An acid-base reaction produces water (H2O) and magnesium chloride (MgCl2), a salt. What were the likely 

reactants? 

16. Solution A has a pH of 2, and Solution B has a pOH of 4. Which solution has a higher concentration of 

hydronium ions? 

17. Determine the pOH of a 0.0034 M HNO3 solution. Also, what is the [OH-] and [H+] of the solution?
18. Determine the pH of a 4.5 x 10-11 M NaOH solution. Also, what is the [OH-] and [H+] of the solution?
19. In a titration of H2SO4 with NaOH, 60.0 mL of 0.020 M NaOH was needed to neutralize 15.0 mL of H2SO4. 
What is the molarity of the acid?
20. In a titration of HCl with NaOH, 100.0 mL of the base was required to neutralize 20.0 mL of 5.0 M HCl. What is the molarity of the NaOH?
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21. A student collected and graphed the data for the titration of 40.0 mL of a Mg(OH)​2 solution of unknown concentration with a standardized 0.20M HCl solution. Based on the information in the graph above, what was the concentration of the Mg(OH)2 solution?

